
 7. 45 - 8n - 36 + 2n  8. 6n  2  5  9. 34 ( x - 1)   2

 10. 17 ( 5n - n ) + 3  11. ( 6n + 1)  (4 )

Answer, find & color
The Three Basic Properties

 1. 5 (x - 2)  2. 8n - 7 + 2n  3. 2(n-1) + 5(3n+1)

 4. 7x - 3(2x + 1)  5. 9 + 2n ( 3 - 1)  6. 6n + (5 - n) 2

 12. 5x - 4 + 3x - x

USE THE PROPERTIES TO SIMPLIFY EACH EXPRESSION

5x - 10

10n - 7

17n + 3

x - 3

9 + 4n

4n + 10

9 - 6n

60 n

68x - 68

88
 - 

17
n 

24n + 4

7x - 4

56x - 84

9n - 4
24n + 52n - 4

16n

8 - 4n

n - 5

36x - 36

58 - 17n

24 n - 4

16n - 47 2n - 41 

n - 21

5 - 42x

42x - 7

24 - x
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